
(a) Baileux-oak 

 

(b) Baileux-beech 

 
(c) Baileux-mixed 

 

(d) Chimay 

 
(e) Louvain-la-Neuve 

 

(f) Virton 
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Predictions Observations

NRMSE = 10.71 %
Bias = -2.88 %
Pearson's r = 0.931
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Predictions Observations

NRMSE = 13.96 %
Bias = -9.33 %
Pearson's r = 0.927
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Predictions Observations

NRMSE = 13.80 %
Bias = -1.81 %
Pearson's r = 0.893
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Predictions Observations

NRMSE = 10.54 %
Bias = -3.24 %
Pearson's r = 0.949
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Predictions Observations

NRMSE = 12.72 %
Bias = -8.76 %
Pearson's r = 0.950
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Predictions Observations

NRMSE = 12.92 %
Bias = -8.36 %
Pearson's r = 0.901


